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Political Science

Class XII

Time Allowed : 3 hours Max. Marks 85

General Instructions : -

1. All questions are compulsory.

2. Choose the correct answer given below the each question of 1 mark.

3. Answer to 2 marks questions should be between 40-50 words.

4. Answer to 3 marks questions should be between 60-75 words.

5. Answer to 5 marks questions should be between 150-180 words.

Q1. Question No. 1 contains 10 parts, each of the following question carries one

mark and gives you a choice of four answers of which only one is correct. Write

the correct one.

(i) ho addressed Congress as an ‘Umbrella Organisation’ ?

(1) Mahatama Gandhi (2) Sardar Patel

(3) Palmer (4) Pt. Nehru

(ii) ho was the Political successor of Pt. Nehru ?

(1) Indira Gandhi (2) Lal Bahadur Shastri

(3) Jagjivan Ram (4) Morarji Desai

(iii) ho gave the slogan ‘Garibi Hatao’ ?

(1) Lal Bahadur Shastri (2) Mahatama Gandhi

(3) Indira Gandhi (4) J.P. Narayan

3

5

lHkh iz’u vfuok;Z gSaA

1 vad okys iz’uksa dk mÙkj fn, x, fodYi esa ls ,d fy[ksaA

2 vadksa okys iz’uksa ds mÙkj 40&50‘ ’kCnksa es a nhft,A

vadksa okys iz’uksa ds mÙkj 60&75 ’kCnksa es a nhft,A

vadksa okys iz’uksa ds mÙkj 150&180 ’kCnksa es a nhft,A

iz’u 1 ds 10 Hkkx gSa] izR;sd iz’u ds fodYi fn, x, gSaA buesa ls lgh fodYi fy[ksaA

dkaxzsl dks ^Nkrk laxBu* fdlus dgk \

¼1½ egkRek xk¡/kh ¼2½ ljnkj iVsy

¼3½ ikej ¼4½ if.Mr usg:

if.Mr usg: dk jktuhfrd mÙkjkf/kdkjh dkSu Fkk \

¼1½ bafnjk xka/kh ¼2½ yky cgknqj ’kkL=h

¼3½ txthou jke ¼4½ eksjkjth nslkbZ

W

W

W
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xjhch gVkvks dk ukjk fdlus fn;k \

¼1½ yky cgknqj ’kkL=h ¼2½ egkRek xka/kh

¼3½ bfUnjk xka/kh ¼4½ ts-ih- ukjk;.k

’kkg vk;ksx dc LFkkfir fd;k x;k Fkk \

¼1½ 1975 ¼2½ 1977

¼3½ 1969 ¼4½ 1980

fdl o kZ Hkkjrh; turk ikVhZ dk xBu gqvk Fkk \

Hkkjr esa ubZ vkfFkZd uhfr dc ykxw dh xbZ Fkh \

xks/kjk dkaM dc gqvk Fkk \

;wjksfi;u la?k dh eqæk gS &

¼1½ ;wjks ¼2½ ;qvku

¼3½ MkWyj ¼4½ :i;k

¼1½ cksfjl ;sYrflu ¼2½ fe[kkbZy xksckZP;kso

¼3½ Cyknhehj iqfru ¼4½ dkslhxu

(iv) was Shah Commission appointed ?

(1) 1975 (2) 1977

(3) 1969 (4) 1980

(v) In which year was BJP formed ?

(1) 1977 (2) 1980

(3) 1988 (4) 1989

(1) 1977 (2) 1980

(3) 1988 (4) 1989

(vi) In which year India adopted the New Economic Policy ?

(1) 1990 (2) 1991

(3) 1992 (4) 1993

(1) 1990 (2) 1991

(3) 1992 (4) 1993

(vii) hen did Godhra incident take place ?

(1) 1992 (2) 2000

(3) 2001 (4) 2002

(1) 1992 (2) 2000

(3) 2001 (4) 2002

(viii) The currency of European Union is

(1) Euro (2) Yuan

(3) Dollar (4) Rupee

(ix) w

”

When

W

Who as the first President of Russia ?

(1) Boris Yeltsin (2) Mikhail Gorbachev

(3) Vladimir Putin (4) Kosigan

:l ds izFke jk Vªifr dkSu Fks \”
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(x) W W

W

What do you mean by Panchsheel ?

Q5. What do you understand by defection ?

Q6. Write any t

What do you kno

W

W

W

Write the names of the main organs of United Nations Organisation (UNO).

Q13. Give the names of ne

W

What do you understand by Globalisation ?

Q16. Explain any t

hich countries are known as ‘Fourth orld’ ?

wo causes of the origin of regionalism ?

w sources of threat to security.

wo factors responsible for the development of Globalisation.

(1×10=10)

iap’khy ls vkidk D;k vfHkizk; gS \

ny cny ls vki D;k le>rs gSa \

la;qDr jk Vª la?k ds izeq[k vaxks a ds uke fy[ksaA

oS’ohdj.k ls vki D;k le>rs gSa \

”

(1) Oil Producing Countries (2) Capitalist countries

(3) Communist countries (4) Developing countries

Q2. Give any two definitions of Political Party.

Q3. hat do you mean by One Party dominance ?

Q4.

Q7. w about Lal denga ?

Q8. hat do you mean by New Economic Policy ?

Q9. hat was the Marshall Plan ?

Q10. Describe the difference between neutrality and Non alignment.

Q11. rite the objectives of SAARC.

Q12.

Q14. hat do you mean by Balance of Power ?

Q15.

Q17. Explain briefly India’s role in the process of Globalisation.

dkSu ls ns’k prqFkZ fo’o ds uke ls tkus tkrs gSa \

¼1½ rsy mRiknd ns’k ¼2½ iwathoknh ns’k

¼3½ lkE;oknh ns’k ¼4½ fodkl’khy ns’k

jktuhfrd ny dh dksbZ nks ifjHkk kk,a nhft,

,d nyh; izHkqRo ls vkidk D;k vfHkizk; gS \

{ks=okn mRiUu gksus ds dksbZ nks dkj.k fy[ksaA

yky Msaxk ds ckjs esa vki D;k tkurs gSa \

ubZ vkfFkZd uhfr ls vkidk D;k vfHkizk; gS \

ek’kZy ;kstuk D;k Fkh \

rVLFkrk o xqVfujis{krk esa vUrj crk,aA

lkdZ ds mís’; fy[ksaA

lqj{kk ds u, [krjksa ds uke crk,aA

’kfDr larqyu dk vFkZ crk,aA

oS’ohdj.k esa Hkkjr dh Hkwfedk dk o.kZu djsaA

”

(2×16=32)

oS’ohdj.k ds mn; ds dksbZ nks dkj.k crk,aA
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Q18. hat is meant by two nation theory ?

Q19.

f}&jk Vª fl)kUr ls vkidk D;k vfHkizk; gS \”

W

Write a short note on Shimla Agreement.

Q20. What do you mean by Hung Parliament ?

Q21. Write any three characteristics of Non-alignment.

Q22. What do you understand by Shock Therapy ?

Q23. What are the main irritents between India and China ?

Q24. What do you mean by Green Revolution ? Mention its positive and negative

consequences ?

Q25. Explain the causes of declaration of Emergency in 1975 ?

Q26. Write down the various Peasants Movements in India.

Q27. Write the main causes of the disintegration of USSR.

Q28. Explain the role of India in United Nation Organisation.

(3×6=18)

1975

f’keyk le>kSrs ij laf{kIr uksV fy[ksaA

f=’kadq laln ls vki D;k le>rs gSa \

’kkWd Fksjsih ls vki D;k le>rs gSa \

Hkkjr&phu fookn ds dkj.k crk,aA

gfjr ØkfUr ls vkidk D;k vfHkizk; gS \ blds ldkjkRed o udkjkRed izHkkoks a dk o.kZu

djsaA

esa Hkkjr esa ykxw fd, x, vkikrdkyhu O;oLFkk ds eq[; dkj.kks a dk o.kZu djsaA

Hkkjr ds fofHkUu fdlku vkUnksyuksa dk o.kZu djsaA

lksfo;r la?k ds fo?kVu ds eq[; dkj.kks a dk o.kZu djsaA

la;qDr jk Vª la?k esa Hkkjr dh Hkwfedk dk o.kZu djsaA

xqVfujis{krk dh dksbZ rhu fo’ks krk,a fyf[k,A”

” (5×5=25)
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Model Question Paper - Answer Key

Political Science - XII

Q.No. 1:-

(i) Who addressed Congress as an ‘Umbrella Organisation’?

(1) Mahatama Gandhi (2) Sardar Patel

(3) Palmer (4) Pt. Nehru

Ans. (i) Palmer

(ii) Who was the Political successor of Pt. Nehru ?

(1) Indira Gandhi (2) Lal Bahadur Shastri

(3) Jagjivan Ram (4) Morarji Desai

Ans. (ii) Lal Bahadur Shastri

(iii) Who gave the slogan ‘Garibi Hatao’?

(1) Lal Bahadur Shastri (2) Mahatama Gandhi

(3) Indira Gandhi (4) J.P. Narayan

Ans. (iii) Indira Gandhi

Ans. (iv) 1977

(v) In which year was BJP formed ?

(1) 1977 (2) 1980

(3) 1988 (4) 1989

Ans. (v) 1980

(vi) In which year India adopted the New Economic Policy ?

(1) 1990 (2) 1991

(3) 1992 (4) 1993

Ans. (vi) 1991

(vii) When did Godhra incident take place ?

(1) 1992 (2) 2000

(3) 2001 (4) 2002

Ans. (vii) 2002

(viii) The currency of European Union is

(1) Euro (2) Yuan

(3) Dollar (4) Rupees

Ans. (viii) Euro

(ix) Who was the first President of Russia ?

(iv) When was Shah Commission appointed ?

(1) 1975 (2) 1977

(3) 1969 (4) 1980
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(1) Boris Yeltsin (2) Mikhail Gorbachev

(3) Vladimir Putin (4) Kosigan

Ans.(ix) Boris Yeltsin

(x) Which countries are known as ‘Fourth World’?

(1) Oil Producing Countries (2) Capitalist countries

(3) Communist countries (4) Developing countries

Ans. (x) Oil Producing Countries

Ans. According to Leacock - “By Political Party we mean more or less an organised

group of citizens who act together as a political unit.”

According to Richard A Watson - “A Political Party is a group of persons who run

candidates for public offices under a label.”

Ans. Indian party system was an example of one dominant party system, especially

during Congress era.Adominant party system is one, where a number of political

parties exist but only one party dominates the operational politics. Other parties

also operate but they do not matter much in the functioning of the government.

Ans. OnApril 29, 1954, Panchsheel or the five principles of peaceful co-existence,first

formally enunciated in the agreement on Trade and intercourse between the

Tibet region of China and India. Panchsheel stands for five principles of conduct

and behaviour. These principles are : -

1. Mutual respect for each other’s territorial integrity and sovereignty.

2. Mutual Non-aggression.

3. Mutual non-interference in each other’s internal affairs.

4. Peaceful Co-existence

5. Equality and Co-operation for mutual benefits.

Ans. When an elected representative leaves the party on whose symbol he/ she was

elected and joins another party, not on grounds of principles but in the quest for

individual power is called Defection.

Q.No. 2. Give any two definitions of Political Party.

Q.No. 3. What do you mean by One Party dominance ?

Q. No. 4. What do you mean by Panchsheel ?

Q.No. 5. What do you understand by defection ?
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Q.No. 6. Write any two causes of the origin of regionalism ?

1. Geographical factors -

2. Caste and religion -

Q. No. 7. What do you know about Lal denga ?

Q.No. 8. What do you mean by New Economic Policy ?

Q.No. 9. What was the Marshall Plan ?

Q.N. 10. Describe the difference between neutrality and Non-alignment.

Q.No. 11. Write the objectives of SAARC.

Ans. Two main causes of the origin of regionalism are :-

The topographic and climatic variations along

with differences in the settlement pattern induce in people the concept of

regionalism.

Caste and religion in Indian society play only a

marginal role in causing regionalism. Only when caste is combined with

linguistic preponderance of religion it may cause regional feelings.

Ans. Laldenga was a Mizo politician and the first Chief Minister of Mizoram state in

North East India from 1986 till 1988. He was the founder of the Mizo National

Front. He led an armed struggle against India for two decades.

Ans. New Economic Policy was launched in 1991 by the then Union Finance Minister

Dr. Manmohan Singh. It refers to ongoing economic liberalisation or relaxation

started in 1991 for the country’s economic policies. It was introduced with the

goal of making the economy more market-oriented and expanding the role of the

private and foreign investment.

Ans. The Marshall Plan was an American initiative to aid Western Europe. After the

second world war, USA extended financial help for reviving the economy of

Europe. Under this plan, the organisation for Europe Economic Co-operation

was established in 1948 to channel aid to the West European states.

Ans. Following are the differences between Neutrality and Non-alignment.

1. Neutrality is related with war like situations whereas Non-alignment is

related to both war and peace situations.

2. The term Neutrality is used in international law whereas Non-alignment is

a term used in international relations.

Ans. The objectives of SAARC are :-

(3)



1. To promote the welfare of the people of SouthAsian Countries.

2. To promote economic growth, cultural development and social progress

in the region.

3. To strengthen cooperation among these countries.

4. To co-operate with international and regional organisations.

Ans. Main organs of United Nations Organisation are -

1. GeneralAssembly

2. Security Council

3. Economic and Social Council

4. Trusteeship Council

5. International Court of Justice

6. Secretariat

Ans. New sources or threat to security are as under -

1. World Wide poverty

2. Inequality between developed and developing countries.

3. Terrorism

4. Global Warming

5. Environmental pollution

Ans. The contemporary writers call Balance of Power a basic principle of international

relations and fundamental law of politics. It refers to equilibrium among countries

of alliances to prevent any one entity from becoming too strong and, thus, gaining

the ability to enforce its will upon the rest.

Ans. The meaning of Globalisation is the conversion of national market into

international one

Q.No. 12. Write the names of the main organs of United Nations Organisation

(UNO)

Q.No. 13. Give the names of new sources of threat to security.

Q.No. 14. What do you mean by Balance of Power ?

Q.No. 15. What do you understand by Globalisation ?

Q.No. 16. Explain any two factors responsible for the development of

Globalisation.

which facilitates the international mobility of factors of

production or commodities thereby taking be best benefits of the factors of

production.

(4)



Ans. Factors responsible for the development of Globalisation are as under :-

1. Information technology revolution - The invention of the telegraph, internet

and microchip in recent times has developed the communication among

different countries of the

Ans. Role of India in the process of Globalisation -

1. The government of India has encouraged the private sector. Many items

world. Due to this, the whole word has become

a global village.

2. Establishment of International Organisations :- International

organisations like UNO are also responsible for the development of

globalisation.

which were under state’s monopoly have been made open for the private

sector.

2. India has encouraged the NRI’s and multinational companies to invest in

India.

3. India has adopted the policy of opening private banks in India. Many

foreign banks have opened their branches in India.

4. The government of India has adopted the policy of Liberalisation.

Ans. The Two nation theory was a founding principle of the Pakistan movement

which was used by Muhammad Ali Jinnah. According to the “Two Nation

Theory” advocated by the Muslim League, India being a diversified country on

the basis of culture, religion and economy had been divided into two

communities - Hindu and Muslim. On the basis of this theory, the demand for

Pakistan, a separate country for the Muslims was made.

Ans. The Shimla agreement signed by Prime Minister Indira Gandhi and President

Zulfikar Ali Bhutto of Pakistan on 2nd July, 1972, was much more than a peace

treaty seeking to reverse the consequences of the 1971 war. It was a

comprehensive blue print for good neighbourly relations between India and

Pakistan. The Shimla agreement contains a set of guiding principles mutually

agreed to by India and Pakistan. These principles are as under -

1. Mutual commitment to the peaceful resolution of all issues through direct

bilateral approaches.

Q.No. 17. Explain briefly India’s role in the process of Globalisation.

Q.No. 18. What is meant by two nation theory ?

Q.No. 19. Write a short note on ShimlaAgreement ?
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2. To uphold the inviolability of the LINE OF CONTROLin J&K.

3. To build the foundations of a cooperative relationship with the special

focus on people to people contact.

In a parliamentary system of government, a hung parliament is an expression

used to describe a state of parliament when no single party has an absolute

majority of a seat in the parliament and therefore has no legitimate mandate to

form a government. ith special reference to India, the ninth, Lok Sabha

elections held in 1989 for the first time invoked the concept of a hung parliament.

Ans. The main characteristics of Non-Alignment are as follows -

1. Prohibition of collective military pacts - Non-alignment obviously mean

non-alignment with military blocs. It opposes security alliance like NATO,

SEATO, CENTO and WARSAW pact etc. as the instruments of cold war.

2. Opposition to cold war - The concept of Non-alignment came at the time

of cold war. It considered cold war as a totally harmful exercise against

international peace and security. Non-alignment opposed cold war as an

abnormal and dangerous policy and projected the decision to keep away

its tension and ill practices.

3. The policy of taking the independent decision - Non-alignment involves

the principle of keeping the independence of foreign policy of each nation,

in fact, the origin of Non-alignment was only due to the desire of new

states to keep their foreign policies independent from the possible

pressures from USAand USSR.

We can refer to the use of extreme policies or actions to solve a particular

problem quickly as shock therapy. Shock therapy was a model of transition in

Russia, Central Asia and East Europe, that was influenced by the world bank

and the IMF. It was a sudden and complete transition from communalism to

capitalism.

The main irritants between India and China are as follows -

The main issue between the two countries is the border

question. The border issue is rooted in the disputed status of the

Q.No. 20. What do you mean by Hung Parliament ?

Ans.

Q.No. 21. Write any three characteristics of Non-alignment.

Q.No. 22. What do you understand by Shock Therapy ?

Ans.

Q.No. 23. What are the main irritants between India and China ?

Ans.

1. Border Issue :-

W
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McMohan line. India recognizes this agreement as the basis for its

territorial claim while China objected the validity of McMohan line which

was drawn in 1914.

Problem of Tibet is a major issue in Indo-China

relations. India recognizes Tibet as an Autonomous region whereas

China considers Tibet as its integral part. China also considers Tibetan

Govt.-in-Exile in India also an act of hostility.

The Chinese attacked India in Oct. 1962

to settle the boundary dispute. The Chinese annexed the Military means,

thousands of square miles of Indian territory for which the Indian Govt.

accused it of violating the spirit of Panchsheel principles.

China opposed India’s Nuclear Test at

Pokhran in 1974 and now, China does not view favourably the nuclear

deal made between India & USA.

The green revolution in India was a period when agriculture in India increased

its yield due to improved agronomic technology utilization. In 1960’s India was

facing food crisis due to many reasons. India was dependent on the USA for

food which was putting many limitations on India’s policy. Indian Govt. decided

to make India self-sufficient in food. Hence the Government adopted a new

strategy for agriculture in order to increase food productions. It started in India in

the early 1960’s and led to an increase in food grain production especially in

Punjab, Haryana and Uttar Pradesh during the early phase.

The traditional agricultural practices were gradually replaced by modern

technology, use of high yielding variety seeds and the increased use of

fertilizers and irrigation are simply called Green Revolution.

(1) The introduction of Green Revolution has resulted in a phenomenal increase in

the production of agricultural crops, especially in food grains. Among the food

grains too, it was the wheat crop which drew maximum benefit from green

revolution.

(2) The productivity of agriculture as measured in terms of yield per hectare has

increased.

2. Tibet Problem :-

3. China’s aggression of 1962 :-

4. China & India’s Nuclear Test :-

Q.No. 24. What do you mean by Green Revolution ? Mention its positive and

negative consequences ?

Ans.

Positive consequences :

(7)



(3) Due to Green Revolution, the earnings of farmers also increased and they

became prosperous.

(4) The main benefit of Green Revolution was the increase in the production of

food grains, as a result of which there was a drastic reduction in their imports.

India became self-sufficient.

(5) Now India was in a position to pay back all loans it had taken from World Bank for

the purpose of Green Revolution.

(6) It has benefitted the industrial development. Many Industries producing

agricultural machinery, chemical fertilizers, pesticides etc. have come up to

meet the growing demand for these commodities.

(1) Green Revolution technology has given birth to growing disparities in economic

development at inter-and intra-regional levels.

(2) Green Revolution widened the gap between the poor and small farmers and rich

Landlords.

(3) Major commercial crops like Cotton, Jute, Tea and Sugarcane were almost

untouched by the Green Revolution.

(4) Excepting Punjab, U.P. and Haryana, Farm mechanization under Green

Revolution has created wide spread unemployment among agricultural

labourers in the rural area.

(5) Many large farmers have evicted tenants as they now find it more profitable to

cultivate land themselves.

(6) High amounts of fertilizers and pesticides used in farms have affected the land

and the health of farmers adversely.

National Emergency in India was imposed during the period of 1975-77 when

Mrs. Indira Gandhi was the PM of India. The internal emergency was declared

on the night of 25 June 1975 and was removed on 21 March 1977. This was

imposed under Article 352 (1) of the Constitution by the then President

Fakhruddin Ali Ahmed giving “internal disturbance” the reason to impose it over

the country and it was justified by the PM Indira Gandhi when she gave a speech

in the Lok Sabha on July 22, 1975. National Emergency was declared due to the

following reasons :

War between India and

Pakistan in December 1971 had put a heavy strain on India’s economy. Oil

prices increased in the International market and this led to an all round increase

Negative Consequences :-

Q.No. 25. Explain the causes of declaration of Emergency in 1975 ?

Ans.

1. Miserable Economic conditions of Country :-

(8)



in the prices of other commodities. The failure of Monsoon in 1972-73 led to the

downfall in agriculture production. Apart from these, there were challenges to

fight with the effects of drought in the country and consequently, there was a rise

of internal threats from various parts of the country against the Government due

to elevation and starvation and debt issues.

Indian National

Congress won the Indian General elections of 1971 by a huge margin. Mr. Raj

Narayan the person who was defeated by Indira Gandhi lodged a case of fraud

and use of state machinery for the election purpose against Mrs. Indira Gandhi

in the Allahabad High Court. On 12 June, 1975, Justice Jagmohan Lal Sinha

passed a judgement declaring Indira’s election to the Lok Sabha invalid and

made her ineligible to occupy her seat for six years. This was the most important

reason which led to the declaration of Emergency.

- Jai Parkash Narayan widely known as the Lok Nayak

demanded the resignation of Mrs. Indira Gandhi. On 25th June 1975, the

opposition parties organized a massive demonstration at Delhi’s Ram Leela

Ground. Jai Parkash Narayan announced a plan of daily demonstrations, not

merely in Delhi but in every State Capital and District Headquarters and asked

the Army, the Police and the Bureaucracy not to obey illegal and immoral orders

of the Government.

In January 1947, students of LD

College of Engineering started an agitation against 20% hike in Mess Charges.

The movement was supported by all the opposition parties. During this

movement, the Central Government was forced to dissolve the state legislature

in Gujarat and CM Chiman Bhai Patel had to resign which resulted in Presidents

rule over Gujarat. Ultimately Assembly elections were held in June 1975. The

Congress was defeated in this election.

It was started by the students of Bihar against the

rising prices, unemployment and corruption. This movement was led by JP

Narayan. This movement is also known as total revolution. The objective of this

movement was not only to change the Government but also to change the

society and the individual.

in April, 1974, there was a high strike of Railway

Employees which also affected the Indian Economy. George Fernandes, the

President of All India Railway Men’s Federation organized an All India Railway

strike which led to massive arrest and unrest in 1974. All these factors were

responsible for declaring internal Emergency on the night of 25 June 1975.

2. Cancellation of the election of Mrs. Gandhi :-

3. JP’s Movement :

4. Gujarat Nav Nirman Movement :-

5. Bihar Movement :-

6. Railway strike of 1974 :-
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Q.No. 26. Write down the various Peasants Movements in India ?

Ans.

1. Tibhaga Movement in Bengal :-

2. Telangana Movement :

3. Naxalbari Movement in West Bengal :

4. Andhra Pradesh Movement:-

5. Peasants movement after 1970 -

By peasants movement we mean such movements as are based on agrarian

needs that seek salvation from suppression of Political Lords, aim at the

redressal of grievances, want to share a part of the power or overthrow the whole

power, Hierarchy and through their achievements, want to change their social

structure.

Some of the most important peasants Movements in India are as follows :

In Bengal region the tenants were

forced to surrender half of their produc to the land lords. In 1946 the All India

Kisan Sabha started the Tibhaga Movement, demanding that tenants be

allowed to keep two third of the produce. The Movement declined in 1947 due

to a crackdown by the police.

This was one of the most politically affected

peasant movement in the erstwhile state of Hyderabad. The objective of this

armed struggle movements was land grabbing and redistribution, the abolition

of the compulsory levy to the Government. Though Telangana movement failed

to continue after 1951, it had a number of positive achievements. It marked the

beginning of abolition of Zamindari and land reforms legislation.

- In 1967 the Communist Party of

India (Marxist, Leninist) had started a liberation movement by imitating Chinese

Model in the Darjeeling district of North Bengal. Naxalbari Movement was led by

Charu Mazumdar and Kanu Sanyal between 1967 and 1969. The main issue of

the movement was to secure right for marginalised section of the Agricultural

community. Several landlords were put on trial and executed. Village defence

squads were established with agricultural labourers and its leaders. This is one

of the most widespread movements of the present time.

The Andhra Pradesh Movement took

place in Varangal and Krim Nagar district of Andhra Pradesh by the local

peasants. This movement was also Arms struggle and violent like Naxalbari

movement.

New peasants movements emerged in

70’s due to land reforms and Green Revolution especially in the area of Punjab,

Haryana, Western UP, Maharashtra etc. and now All Indians farmers

organisations also emerged such as Bhartiya Kisan Union, Karnataka Raitha

Sangha etc. The main objective of these organisations is to promote the interest

of the farmers. Main demands of these organisations are seeds, pesticides,

fertilizers at a low cost, better electricity at low cost, better irrigation facilities,

remuneration prices for the crop, loans at low-interest rates etc.

(10)



Q.No. 27 :- Write the main causes of the disintegration of USSR.

Ans.

1. Miserable economic condition :-

2. Policies of Gorbachev :-

3. More stress on Militarisation :

4. No Political Rights :-

5. Lack of Decentralisation :-

6. Nationalist Movements :-

Russian revolution of 1917 ended the Russian empire. This was followed by

Russian civil war which finally resulted in the formation of Union of Soviet

Socialist Republic (USSR) in 1922. There were 15 union republics (states) in

USSR before its disintegration in 1991.

The following were the main reasons for the disintegration of the former Soviet

Union -

Main cause of the disintegration of

USSR was weakening of its economy. The closed market economy, coercive

policies and high expenditure on defence due to Arms race and neglecting other

sectors led to rise in food prices and decline in wages crippled the economy.

Gorbachev in 1980’s initiated Perestroika

(Restructuring) and Glasnost (Openness) as reforms to revitalise USSR but

ended up destroying it. However, once initiated it was difficult to control the

reforms paving the way for fall of communism in Europe.

- the USSR was overly focussed on

Military Build up, neglecting domestic troubles that would play a major role in

bringing down the USSR. USSR was spending million dollars in a year on

Military. This was largely due to the perceived need to keep pace with the

massive US military build up.

Due to the reliance on totalitarian rule, Soviet

system had a zero tolerance to criticism. Some individuals such as Yelena

Bonner, Andrey Sakharov who dare to criticise the system were systematically

harassed by the powerful Soviet committee of state security. There was no

freedom of speech and expression. Any opinion, expressed against the Party

line, was deemed to be a matter of treason and hence severe punishment was

inflicted. USSR failed in feeling the political and economic aspirations of the

citizens.

The Soviet Union did not allow individual

Republics more autonomy but it still withheld tax revenues. The Soviet Union

became bureaucratic and authoritarian. There was a dictatorship of the

Communist Party.

The Soviet Union was a nation composed of

15 different Republics. Across the nation, there were dozens of languages,

cultures, many of which were incompatible with each other. In 1989 Nationalist

movements in the Eastern Europe brought regime change in Polland and the

movement soon spread into Czechoslovakia, Yugoslavia and the Soviet

(11)



satellites in the eastern Europe. Many of these former Soviet allies began to split

along ethnic lines and by 1991, the Soviet Union was no more.

India is a founder member of UNO. UNO is an international organisation which

was established on 24 October, 1945 to maintain international peace and

security after second world war. India always promotes the cause of UNO and

cooperated with it as and when called.

1. India’s role in the UN’s Peace keeping operations - India has played a very

important role in UN in maintaining world peace. It supported the

resolutions of UN by which North Korea was declared the aggressor. To

stop war UN sent forces of 16 countries. and India also participated. India

has contributed troops to the Civil war in Congo, Iran-Iraq war and during

Gaza crisis. India has contributed over 1,60,000 troops to 43 of 64 UN

Peace Keeping operations. Over 160 Indian Armed and Police Forces

personnel have laid down their lives while fighting for the UN’s Blue Flag.

2. India has followed a policy of Non-Alignment and has always played an

important part even through the United Nations introducing the tension

between two power blocks.

3. Many Indian personalities have adorned the various positions in UNO.

Mrs. Vijaylakshmi Pandit served as President of GeneralAssembly.

4. India is one of the main contributors to the UN regular budget.

5. India was one of the first countries to raise the issue of apartheid in South

Africa at the UN in 1946. When the convention of elimination of all forms of

racial discrimination was adopted in 1965, India was among the earliest

signatories.

6. India has always sported the struggle towards global disarmament and

the ending of the arms race.

7. India has been a member of UN Security Council for 7 terms (total of 14

years)

8. According to the UN estimates India is currently the fourth largest police

contributing country with 1009 officers and the third largest contributor of

Female police officers.

Q.No. 28. Explain the role of India in United Nation Organisation.

Ans.
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Model Questions Paper

Poltical - Science

+2
Hindi Medium

Á01- ½ dkaxzsl dks Nkrk laxBu fdlus dgk \

¼1½ egkRek xka/kh ¼2½ ljnkj iVsy

¼3½ ikej ¼4½ if.Mr usg:

mÙkj % ikej

½ if.Mr usg: dk jktuhfrd mÙkjkf/kdkjh dkSu Fkk \

¼1½ bafnjk xka/kh ¼2½ yky cgknqj ’kkL=h

¼3½ txthou jke ¼4½ eksjkjth nslkbZ

mÙkj % yky cgknqj ’kkL=h

½ xjhch gVkvks dk ukjk fdlus fn;k \

mÙkj % bfUnjk xka/kh

½ ’kkg vk;ksx dc LFkkfir fd;k x;k Fkk \

mÙkj % 1977

½ fdl o kZ Hkkjrh; turk ikVhZ dk xBu gqvk Fkk \

mÙkj % 1980

½ Hkkjr esa ubZ vkfFkZd uhfr dc ykxw dh xbZ Fkh \

mÙkj % 1991

½ xks/kjk dkaM dc gqvk Fkk \

mÙkj % 2002

i

i

ii

iii

iv

v

vi

vii

½

½

¼1½ yky cgknqj ’kkL=h ¼2½ egkRek xka/kh

¼3½ bfUnjk xka/kh ¼4½ ts-ih- ukjk;.k

½

¼1½ 1975 ¼2½ 1977

¼3½ 1969 ¼4½ 1980

½

¼1½ 1977 ¼2½ 1980

¼3½ 1988 ¼4½ 1989

½

¼1½ 1990 ¼2½ 1991

¼3½ 1992 ¼4½ 1993

½

¼1½ 1992 ¼2½ 2000

¼3½ 2001 ¼4½ 2002

½

ii

iii

iv

v

vi

vii

”
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½ ;wjksfi;u la?k dh eqæk gS &

mÙkj % ;wjks

½ :l ds izFke jk Vªifr dkSu Fks \

mÙkj % cksfjl ;sYrflu

½ dkSu ls ns’k prqFkZ fo’o ds uke ls tkus tkrs gSa \

mÙkj % rsy mRiknd ns’k

Á02- jktuhfrd ny dh dksbZ nks ifjHkk kk,a nhft,A

mÙkj % % & jktuhfrd ny ls gekjk vfHkÁk; ukxfjdksa ds ml de ;k vf/kd
laxfBr lewg ls gS tks ,d jktuhfrd bZdkbZ ds :i esa bDV~Bs dk;Z djrs gSaA

½ % ,d jktuhfrd ny yksxksa dk ,d ,slk lewg gS tks
lkoZtfud inksa ds fy, ,d fpUg ds vUrxZr vius izR;k’kh [kM+k djrk gSA

Á03- ,d nyh; izHkqRo ls vkidk D;k vfHkizk; gS \

mÙkj % ,d nyh; & ÁHkqRo ls gekjk vfHkÁk; ;g gS fd tc ns’k esa dsoy ,d gh jktuhfrd ny gks vkSj
lHkh jktuhfrd xfrfof/k;k¡ ml ny ds ek/;e ls gksrh gksaA vFkkZr~ tgka jktuhfrd {ks= esa cgqr ls
jktuhfrd ny rks gksa ijUrq jktuhfrd lÙkk ,d gh ÁHkko’kkyh ny ds gkFk esa gks] vkSj og dkQh
le; ls ’kklu pykrk vkrk gks] o vU; nyksa dh mifLFkfr dsoy ukeek= gh gksrh gSA mls ,d
nyh; ÁHkqRo dgrs gSaA

Á04- iap’khy ls vkidk D;k vfHkizk; gS \

mÙkj % 29 vÁSy 1954 dks Hkkjr ,oa phu ds chp frCcr & {ks= lEca/kh ,d O;kikfjd le>kSrk gqvk FkkA bl
le>kSrs dh ÁLrkouk esa ikap fl)kar vafdr fd;s x;s FksA ftUgsa iap’khy ds fl)kar dgk tkrk gSA
tks fd bl rjg ls gSa %&

,d nwljs ij vkØe.k u djukA ½ lekurk vkSj ijLij ykHk

,d nwljs dh {ks=h; v[k.Mrk vkSj ÁHkqlÙkk dk ijLij vknj djukA ½ ’kkfUre;

lg&vfLrRoA ½ ,d&nwljs ds vkUrfjd dk;ks± esa n[ky u nsukA

viii

ix

x

(i) (ii

(iii) (iv

(v

¼1½ ;wjks ¼2½ ;qvku

¼3½ MkWyj ¼4½ :i;k

½

¼1½ cksfjl ;sYrflu ¼2½ fe[kkbZy xksckZP;kso

¼3½ Cyknhehj iqfru ¼4½ dkslhxu

½

¼1½ rsy mRiknd ns’k ¼2½ iwathoknh ns’k

¼3½ lkE;oknh ns’k ¼4½ fodkl’khy ns’k

½

viii

ix

x

”

”

I

ii

yhykWd ds vuqlkj

fjpMZ ,0 okVlu ds vuqlkj
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Á05- ny&cny ls vki D;k le>rs gSa \

mÙkj % %& Hkkjrh; jktuhfrd ny Á.kkyh dk ,d cqjk igyw gSA ny&cny ls gekjk vfHkÁk; ;g

gS fd tc fo/kkuikfydk dk dksbZ Hkh fuokZfpr lnL; tks fd fdlh ,d ny ds fVdV ij turk

}kjk pquk tkrk gS rFkk og jktuhfrd ykHk ikus ds fy, vius ny dks NksM+dj fdlh vU; ny esa

’kkfey gks tkrk gS mls ny&cny dgrs gSaA Hkkjr esa ;g ÁFkk 1967 ds pqukoksa ds ckn ls ns[kus esa

vk;k vkSj bls jksdus ds fy, 1985 esa ny&cny fujks/kd dkuwu Hkh cuk;k x;k FkkA

Á06-

mÙkj % {ks=okn ds mRiUu gksus ds fuEufyf[kr dkj.k gS%&

1½ & Hkkjr esa {ks=okn ds mRiUu djus esa Hkkjrh; fofHkUurk;sa tSls
fHkUu&fHkUu {ks=ksa esa jgus okys Hkkjrh; yksxksa dh fofHkUurk,¡ {ks=okn dks mRiUu djrh gSaA

2½ & {ks=okn dh mRifÙk dk vU; dkj.k Hkk kk;h vYi&la[;dksa dh leL;k Hkh

gSA D;ksafd ns’k ds fHkUu&fHkUu Hkkxksa esa Hkk kk ds vk/kkj ij Hkh vyx jkT;ksa dh ekax dh tk

jgh gS tks fd {ks=okn dks c<+kok nsus esa vkxs c<+ jgh gSA

Á07- yky Msaxk ds ckjs esa vki D;k tkurs gSa \

mÙkj % yky Msaxk & yky Msaxk ,d fetks jktuhfrK Fkk vkSj fetksje jkT; ds ÁFke eq[;ea=h Hkh FksA budk
dk;Zdky 1986 ls 1988 rd dk jgk tks fd fetks us’kuy ÝaV ds usrk ¼laLFkkid½ FksA mUgksaus
yxkrkj nks n’kdksa rd Hkkjr ds fo:) l’kL= la?k kZ Hkh fd;kA

Á08- ubZ vkfFkZd uhfr ls vkidk D;k vfHkizk; gS \

mÙkj % ubZ vkfFkZd uhfr & 1990 ds n’kd esa Hkkjr dh vkfFkZd uhfr esa ifjorZu djus ds fy, rFkk mlesa
mnkjhdj.k dks viukuk Hkkjrh; jktuhfr esa ,d cM+k ifjorZu FkkA ;g uhfr o kZ 1991 esa Hkkjr
ljdkj ds rRdkyhu foÙk ea=h MkW- eueksgu flag ds usr`Ro esa tqykbZ 1991 esa Hkkjr esa fo|eku
vkfFkZd ladV dks Vkyus ds mn~ns’; ls ykxw dh xbZ FkhA ftlesa vkfFkZd fodkl o lq/kkjksa dh xfr
dks rhozrk Ánku dh tk ldsA

Á09- ek’kZy ;kstuk D;k Fkh \

ek’kZy ;kstuk & :lh lkE;okn ds rsth ls c<+rs gq;s ÁHkko dks jksdus ds fy;s vesfjdk ds fons’k
ea=h tktZ-lh- ek’kZy us ikap twu 1947 dks ,d ;kstuk dh ?kks k.kk dh FkhA ftls ek’kZy ;kstuk ds
uke ls Hkh tkurs gSaA bl ;kstuk ds vUrxZr vesfjdk us vusdksa ;wjksih; ns’kksa dks vkfFkZd lgk;rk nh
Fkh rkfd lkE;okn ds c<+rs gq;s ÁHkko dks jksdk tk ldsA ifj.kke vesfjdk ,d ÁHkqRo ’kfDr cu
x;kA bl ;kstuk dh dkQh vkykspuk Hkh gqbZ FkhA

Á010- rVLFkrk rFkk xqVfujis{krk esa vUrj crk,aA

mÙkj % rVLFkrk rFkk xqVfujis{krk esa fuEu vUrj gS %&

½ rVLFkrk ’kCn dk Á;ksx ;q) esa tcfd xqVfujis{krk ’kCn dk Á;ksx ’kkfUr o ;q) ds le;

ny cny

Hkkjr dh fofHkUurk,¡

Hkk kkRed rF;

{ks=okn ds mRiUu gksus ds dksbZ nks dkj.k fy[ksaA

mÙkj %

” ”

”

”

”

”

i
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gksrk gSA

½ rVLFkrk ’kCn dk Á;ksx vUrjkZ Vªh; dkuwu esa tcfd xqV&fujis{krk ’kCn dk Á;ksx
vUrjkZ Vªh; lEca/kksa ds lanHkZ esa fd;k tkrk gSA

Á011-

mÙkj % lkdZ ds mís’; %&

½ nf{k.k ,f’k;k esa tuleqnk; ds dk;ks± dks c<+kok nsukA

½ bl {ks= ds ns’kksa esa lkekftd&vkfFkZd fodkl dh ÁfØ;k dks c<+kok nsukA

½ fofHkUu {ks=ksa esa vkilh lg;ksx vkSj lgk;rk dks ÁHkkodkjh cukukA

½ vUrjkZ Vªh; o {ks=h; laxBuksa ds lkFk lg;ksx LFkkfir djukA

Á012-

mÙkj % la;qDr jk Vª la?k ds Áeq[k vaxksa ds uke fuEu gSa %& ¼eq[; N% vax½

½ egklHkk

½ lqj{kk ifj kn

½ vkfFkZd vkSj lkekftd ifj kn

½ U;kflrk ifj kn

½ U;k; dk vUrjkZ Vªh; U;k;ky;

½ lfpoky;

Á013-

mÙkj % lqj{kk ds u, [krjksa ds uke fuEu gSa %&

½ fo’o O;kih fu/kZurk

½ fodflr o fodkl’khy ns’kksa esa vlekurk

½ vkradokn

½ oS’fod rki o`f)

½ i;kZoj.k Ánw k.kA

Á014- ’kfDr larqyu dk vFkZ crk,aA

mÙkj % & vUrjkZ Vªh; jktuhfr esa ge ’kfDr larqyu ls ;g vFkZ ysrs gSa fd ns’kksa esa vkilh

lEca/k bl Ádkj ls LFkkfir fd;s tk;sa fd dksbZ Hkh ns’k ;k xqV cgqr vf/kd ’kfDr’kkyh fLFkfr u

ÁkIr dj ys vkSj vius vkl&ikl ds NksVs rFkk de ’kfDr’kkyh ns’kksa ij viuk ÁHkko tekus ;k mu

ij vkØe.k ;k vius Hkw&{ks= esa feykus dh dksf’k’k u dj ldsaA

ii

i

ii

iii

iv

i

ii

iii

iv

v

vi

i

ii

iii

iv

v

”

”

”

”

”

”

”

”

”

lkdZ ds mís’; fy[ksaA

la;qDr jk Vª la?k ds Áeq[k vaxksa ds uke fy[ksaA

lqj{kk ds u, [krjksa ds uke crk,aA

”

”

’kfDr larqyu
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Á015- oS’ohdj.k ls vki D;k le>rs gSa \

mÙkj % & vFkZ & [kqyk cktkj o Áfr;ksfxrk] jk Vªh; vFkZO;oLFkk dk fo’o
vFkZO;oLFkk ds lkFk lek;kstu jk Vªh; cktkj dks vUrjkZ Vªh; cktkj esa ifjofrZr djuk] vU; ’kCnksa
esa bls jk Vªh; vFkZO;oLFkk dk fo’o vFkZO;oLFkk ds lkFk ,dhdj.k dh ÁfØ;k dgk tk ldrk gSA

Á016- oS’ohdj.k ds mn; ds dksbZ nks dkj.k crk,aA

mÙkj % oS’ohdj.k ds mn; ds nks dkj.k fuEu gSa %&

1½ vk/kqfud lwpuk rduhd dk fodklA

2½ m|ksfxdj.k o cgqjk Vªh; dEifu;ksa dk vkxeuA

3½ vUrjkZ Vªh; laLFkkuksa dh LFkkiukA

Á017- oS’ohdj.k esa Hkkjr dh Hkwfedk dk o.kZu djsaA

mÙkj % %&

1½ Hkkjr us futh {ks= dks ÁksRlkgu fn;k gSA tks oLrq;sa jkT;,dkf/kdkj esa Fkha mUgsa futh {ks=

ds fy;s [kksyk x;k gSA

2½ Hkkjr us vÁoklh Hkkjrh;ksa dks c<+kok fn;k gS vkSj dbZ cgqjk Vªh; dEifu;ksa us Hkkjr esa

fuos’k fd;k gSA

3½ Hkkjr us futh cSadks ds [kksyus dh uhfr viukbZ gS vkSj cgqr ls fons’kh cSadksa us vius cSad

Hkkjr esa LFkkfir fd;s gSaA

4½ Hkkjr us m|ksx uhfr esa Hkh ifjorZu fd;k gS o dbZ ns’kksa ds lkFk eqDr&O;kikj lfU/k;ksa esa

’kkfey gqvk gSA

5½ Hkkjr us mnkjhdj.k dh uhfr dks viuk;k gSA

Á018- f}&jk Vª fl)kUr ls vkidk D;k vfHkizk; gS \

mÙkj % & ikfdLrku dh ekax dk vk/kkj f}jk Vª fl)kar FkkA 1936 bZ- esa yhx us cEcbZ
vf/kos’ku ds le; yhx ds v/;{k lj ckftj gqlSu us dgk Fkk] fd ßbl foLr`r }hi esa jgus okys
fgUnw vkSj eqLyeku nks tkfr;ka ugha cfYd bl fl)kar dks iw.kZ :i ls fodflr djus dk Js; fe-

ftUukg dks tkrk gSA mUgksaus 1940 bZ- ds ykgkSj vf/kos’ku esa ikfdLrku dh ekax djrs gq;s dgk Fkk
fd fgUnw vkSj eqLyeku okLro esa nks /keZ ugha cfYd nks fHkUu&fHkUu lkekftd O;oLFkk,a gSaA

Á019- f’keyk le>kSrs ij laf{kIr uksV fy[ksaA

mÙkj % %& 1971 ds Hkkjr ikd ;q) ds ckn tc caxykns’k dk fuekZ.k gks pqdk Fkk
rc 3 tqykbZ] 1972 dks ikfdLrku ds Á/kkuea=h tqfYQdkj vyh HkqV~Vks rFkk Hkkjr dh Á/kkuea=h
Jhefr bfUnjk xka/kh ds chp f’keyk eas le>kSrk gqvkA Hkkjr lnSo bl le>kSrs ij dk;e gS vkSj
ikfdLrku ls gj fo k; ij ckrphr f’keyk le>kSrs ds vUrxZr gh djuk pkgrk gSA bl le>kSrs esa

oS’ohdj.k ls vfHkÁk;

oS’ohdj.k esa Hkkjr dh Hkwfedk

f}jk Vª fl)kar

f’keyk le>kSrs ij uksV

”

” ”

”

”

”

”

”

””

”
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fuEu ’krs± gSa %&

1½ nksuksa ns’k 30 fnu ds vUnj viuh lsuk,a vUrjkZ Vªh; lhekvksa ij ys tk;saxsA

2½ nksuksa ns’k vkilh leL;kvksa vkSj fooknksa dks vkilh ckrphr }kjk vkSj ’kkfUriw.kZ <ax ls gy

djsaxsA

3½ nksuksa ns’k ,d&nwljs dh lhekvksa dk mYya?ku ugha djsaxsA

4½ nksuksa ns’k ,d nwljs ds vkUrfjd ekeyksa esa rFkk jktuhfrd leL;kvksa esa n[ky ugha nsaxsA

Á020- f=’kadq laln ls vki D;k le>rs gSa \

mÙkj % & f=’kadq laln ls vfHkÁk; ,slh laln ls gS ftlesa ;fn pqukoksa ds ckn ljdkj
cukus ds fy, fdlh Hkh ,d ny dks iw.kZ cgqer ÁkIr ugha gksrk] vkSj rc nks ;k nks ls vf/kd ny
feydj ljdkj dk fuekZ.k djrs gSa mls f=’kadq laln dgrs gSaA tSls Hkkjr esa 1989 ds yksdlHkk ds
pqukoksa esa fdlh Hkh ny dks cgqer ÁkIr ugha gqvk Fkk vkSj f=’kadq laln vfLrRo esa vkbZ FkhA ml
le; Jh oh-ih- flag ds usr`Ro esa ekspkZ dh ljdkj dk xBu gqvk Fkk vkSj Hkkjrh; turk ikVhZ us
ljdkj ls ckgj jgdj mldk leFkZu fd;k FkkA blh Ádkj 1989 ls ysdj vÁSy&ebZ&2009 rd
15 oha yksdlHkk ds pqukoksa esa Hkh f=’kadq laln vfLRkRo esa vkbZ FkhA

Á021- xqVfujis{krk dh dksbZ rhu fo’ks krk,a fyf[k,A

”

”

f=’kadq laln

mÙkj % % &

1½ xqV fujis{krk dk lk/kkj.k vFkZ gS fd vUrjkZ Vªh; jktuhfr eas ÁHkkoh fdlh Hkh xqV esa ’kkfey

u gksukA

2½ ÁR;sd eqís ij fu i{krk ls fopkj djds ml ij fopkj ÁdV djukA

3½ xqV fujis{krk dk Á;ksx eq[; :i ls ’kkfUr o ;q) ds le; esa fd;k tkrk gSA

4½ xqV&fujis{krk dk Á;ksx vUrjkZ Vªh; lEca/kksa esa fd;k tkrk gSA

5½ xqV&fujis{krk dk lEca/k le>kSrksa rFkk ’kfDr xqVksa ds chp la?k kks± rFkk rukoksa esa Hkkx u ysus
dh ’krZ ls gSA

Á022- ’kkWd&FkSjsih ls vki D;k le>rs gSa \

mÙkj % & dk lk/kkj.k vFkZ vk?kkr igqapkdj mipkj djuk gSA lkE;oknh O;oLFkk ds pqaxy esa
Qals gq;s bu jk Vªksa us vius&2 vkfFkZd fodkl ds iwathokn ij vk/kkfjr mnkjoknh O;oLFkk dks
viuk;k FkkA ftlds yksx vHk;Lr ¼vH;Lr½ ugha FksA bl ,dne fd;s x;s vFkZO;oLFkk esa
ifjorZu dks gh ’kkWd FkSjsih dk uke fn;k tkrk gSA bldk eq[; mís’; lektoknh O;oLFkk ls iwjh
rjg ls eqfDr ikuk FkkA

Á023- Hkkjr&phu fookn ds dkj.k crk,aA

mÙkj % & Hkkjr vkSj phu ds Ákphu dky ls gh O;kikfjd rFkk lkaLd`frd
lEca/k jgs gSaA 1954 esa nksuksa ns’kksa us iap’khy fl)kar ij gLrk{kj fd;sA 1959 esa tc Hkkjr us
nykbZykek dks jktuhfrd ’kj.k nh rks phu us fojks/k fd;kA 1959 esa phu us yn~nk[k vkSj usQk ¼vc

xqV&fujis{krk dh fo’ks krk,a

’kkWd&FkSjsih

Hkkjr&phu fookn ds dkj.k

”

”

”

”

”

”
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v:.kkpy Áns’k½ ds 12]800 oxZ fdyksehVj ds {ks= ij viuk nkok j[kkA vDrwcj 1962 dks phu us
leLr Hkkjr lhek ij vkØe.k dj fn;k vkSj Hkkjr phu ;q) vkjEHk gks x;kA ijUrq 21 uoEcj 1962

dks phu us ,d rjQk ;q) fojke ?kksf kr dj fn;k vkSj Hkkjrh; lhekvksa ls lsuk,a gVkus ls euk dj
fn;kA phu Hkkjr ds v:.kkpy Áns’k ds 90]000 oxZ fdyksehVj {ks= ij viuk nkok djrk gS vkSj
;g fookn vHkh Hkh tkjh gSA

Á024- gfjr ØkfUr ls vkidk D;k vfHkizk; gS \

mÙkj % Z & gfjr ØkfUr dk vFkZ d`f k mRiknu esa gksus okyh ml ßHkkjh o`f) ls gS tks
d`f k dh ubZ uhfr viukus ds dkj.k gqbZ gSA ts-th- gkjV ds vuqlkj] ßgfjr ØkfUrÞ ’kCn 1968 esa gksus
okys mu vk’p;Ztud ifjorZuksa ds fy;s Á;ksx esa yk;k tkrk gS tks Hkkjr ds [kk|kUu mRiknu esa
gqvk Fkk rFkk vc Hkh tkjh gSA

1½ gfjr ØkfUr ds dkj.k Hkkjr vkRefuHkZjrk dh vksj vxzlj gqvk gSA

2½ gfjr ØkfUr ds dkj.k Hkkjr esa rhoz d`f kxr fodkl djus okys jk Vªksa dk vxz.kh cu x;k

FkkA

3½ Lora=rk ÁkfIr ls ysdj ds 1977 rd yxHkx 30 o kks± esa [ksrh esa mRiknu dh {kerk esa 30

Áfr’kr ds vklikl rd o`f) gqbZ gSA

4½ gfjr ØkfUr ds dkj.k Hkkjr esa igyh ckj mPp xq.koÙkk okys chtksa dk Á;ksx fd;k x;k FkkA

”

”

gfjr ØkfUr dk vFk

gfjr&ØkfUr ds ldkjkRed ÁHkko &

”

” ”

”

”

”

”

”

5½ flapkbZ dh vko’;drk dks iw.kZ djus ds fy;s cMs+&cM+s cka/kksa vkSj ugjksa dk fuekZ.k fd;k

x;kA

6½ bl dky esa mUur] moZjdksa] mUUkr d`f k midj.kksa dk O;kid Lrj ij Á;ksx gqvk Fkk ftlds

dkj.k d`f k dks O;olk; ds :i esa ns[kk tkus yxkA

7½ gfjr ØkfUr ds dkj.k fons’kh _.kksa dh vnk;xh djus esa l{ke gqvk gSA

1½ iapo khZ; ;kstukvksa ds LFkxu ls vkfFkZd fodkl dh nj esa dHkh vkbZ gSA D;ksafd bl nkSjku
;kstukvksa dks LFkxu djus ls fu/kkZfjr vkfFkZd y{;ksa dks ÁkIr djus esa vlQyrk gkfly

gqbZA

2½ bl ØkfUr ds dkj.k jktuhfrd vfLFkjrk dk nkSj Hkh ’kq# gks x;kA ftlds dkj.k dkaxzsl

ikVhZ dks lk/kkj.k cgqer ds lkFk&lkFk 1969 ds ckn rks mls okeiafFk;ksa ds lg;ksx ls gh

viuh ljdkj pykuh iM+hA

3½ gfjr ØkfUr dk udkjkRed ÁHkko ;g Hkh iM+k fd pkSFks vke pqukoksa ds ckn vusdksa ,sls
jkT; Fks tgka ij ,d ny dks Li V cgqer u feyk vkSj xBca/ku ljdkjksa dk xBu fd;k

x;kA ifj.kke ;g ljdkjsa fLFkj Á’kklu nsus esa ukdke jghaA

4½ gfjr ØkfUr dk vU; udkjkRed ÁHkko ;g Hkh iM+k fd bl le; ds nkSjku v{ke dsUnzh;

usr`Ro ds dkj.k Á’kklu ij ukSdj’kkgh dk ÁHkko T;knk c<+ x;kA ifj.kke Hkz Vkpkj esa

gfjr ØkfUr ds udkjkRed ÁHkko

”
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o`f) gqbZA blds bykok lok±xh.k fodkl Hkh dkQh gn rd ÁHkkfor gqvk o okeiafFk;ksa dk
fojks/k rFkk dkaxzsl esa QwV Hkh blh le; ds nkSjku iM+h FkhA

bl rjg 60 dk n’kd Hkkjrh; jktuhfr esa dkQh mFky&iqFky okyk jgk FkkA bl dky esa tgka nks
vkØe.kksa dk lkeuk djuk iM+k ogha jktuhfrd vfLFkjrk dk ;qx Hkh blh le; ls ’kq# gks x;k FkkA

Á025- 1975 esa Hkkjr esa ykxw fd;s x, vkikrdkyhu O;oLFkk ds eq[; dkj.kksa dk o.kZu djsaA

mÙkj % 1975 esa ykxw fd;s x;s vkikrdkyhu O;oLFkk ds eq[; dkj.k &

1½ & 1971 esa tgka ns’k dks ikapos vke pqukoksa dk lkeuk
djuk iM+kA ogha ns’k dks 80 yk[k iwoZ ikfdLrku ds ’kj.kkfFkZ;ksa ds vfrfjDr cks> dk Hkh
lkeuk djuk iM+kA 1971 esa Hkkjr&ikd ;q) dk gksukA ysfdu fot;h gksus ij Hkkjr dh
vkfFkZd fLFkfr n;uh; gksuk] blds bykok 1972&73 esa ekulwu dh deh ds dkj.k [kk|kUu

ladV iSnk gks x;kA vUrjkZ Vªh; cktkj esa dPps rsy dh dherksa esa Hkkjh mNky vkukA bu

lHkh dkj.kksa ds otg ls ns’k esa vkikrdky ykxw djuk iM+k FkkA

2½ & 1972 esa tc vUrjkZ Vªh; Lrj esa cktkj dh dherksa esa Hkkjh mNky

vk;kA dherksa esa Hkkjh o`f) gksus ds dkj.k vko’;d oLrqvksa ds ewY;ksa esa Hkkjh o`f) ntZ dh

xbZ vkSj ljdkj }kjk ljdkjh nqdkuksa esa jk’ku nsus dh ÁfØ;k ’kq# dh xbZA ysfdu
tek[kksjksa us Hkkjh ek=k esa [kk|kUu inkFkks± dks xksnkeksa esa gh tek dj fy;kA ifj.kke yksxksa

dks i;kZIr ek=k esa jk’ku ugha feyus yxk o Hkkjh nj ij iwaftifr;ksa ds }kjk [kk|kUu inkFkks±
dks cspk tkus yxkA

3½ & Hkkjr dh Lora=rk ls igys fczfV’k
Hkkjr esa Hkkjrh; vlSfud lsokvksa dh O;oLFkk FkhA bu lsokvksa ds vf/kdkfj;ksa dks
Lora= Hkkjr dh ljdkj us fo’ks kkf/kdkj vkSj fo’ks k lsok ’krs± nsus dk opu fn;k Fkk vkSj
lafo/kku dh /kkjk 314 esa O;oLFkk Fkh fd bu lsokvksa ds vf/kdkfj;ksa dh fo’ks k lsok ’krs± vkSj
fo’ks kkf/kdkj lekurk ds fl)kar ds vuqdwy ugha FksA blfy, 1972 esa 28 osa laoS/kkfud
la’kks/ku }kjk Hkkjrh; vlSfud lsokvksa ds vf/kdkfj;ksa dh fo’ks k lsok ’krs± vkSj muds
fo’ks kkf/kdkjksa dks lekIr djus ds fy, laln dks ’kfDr nh xbZ FkhA

4½ & dkaxzsl ljdkj ds dqN QSlyksa dks U;k;ikfydk jí dj pqdh FkhA
blesa dqN ,sls QSlys Fks tks fd lkekftd vkfFkZd fodkl esa dkQh mi;ksxh fl) gks
ldrs FksA ekSfyd vf/kdkjksa esa dVkSrh djus ckjs] lEifÙk ds vf/kdkj esa adVkSrh] uhfr
funsZ’kd fl)kar ekSfyd vf/kdkjksa ls Js B rFkk ljdkj fojks/kh QSlys ls bfUnjk th dk
f[kUu gksuk] ofj B U;k;/kh’kksa dh ofj Brk dks ut+j vUnkt djds dfu B ttksa dks lEeku
nsukA ;g dqNsd ,sls dne@ ?kVuk;sa Fkha ftuds dkj.k vkikrdkyhu O;oLFkk dh tkuh
vko’;d FkhA

5½ & ts- ih- ukjk;.k }kjk iqu% jktuhfr esa lfØ; gks djds bl vkUnksyu dk
usr`Ro djus ds fy, vkxs vk;sA mUgksaus fo?kj vkUnksyu dh vxqvkbZ dh Fkh ysfdu mudk
;g vkUnksyu jk Vª O;kih vkUnksyu FkkA ts-ih- ukjk;.k dk ;g vkUnksyu ewyr% dkaxzsl
fojks/kh o bfUnjk fojks/kh FkkA ftlesa Hkkjr ds vf/kdrj foi{kh nyksa us Hkh Hkkx fy;k FkkA
muds bl vkUnksyu dk ,d ek= mís’; bfUnjk xka/kh dh rkuk’kkgh dks jksduk Fkk vkSj
yksdra= dh j{kk djuk FkkA blfy, mUgksaus ts-ih- ukjk;.k ds bl vkUnksyu dks [kRe djus
dk fu’p; fd;k gqvk FkkA

6½ & bykgkckn dh mPp U;k;ky; us 12 twu

ns’k dh n;uh; vkfFkZd fLFkfr

dherksa esa fujUrj o`f)

Hkkjrh; vlSfud lsokvksa ds fo’ks kkf/kdkjksa dh lekfIr

U;k;ikfydk ls Vdjko

jsyos gM+rky

Jherh bfUnjk xka/kh dk fuokZpu jí djuk

”

”

” ”

”

”

”

”

”

” ” ”

”

”
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1975 dks viuk ,d fu.kZ; nsrs gq;s tuojh 1971 es jk;&cjsyh ¼mÙkj&Áns’k½ ls yM+s x;s
Jherh bfUnjk xka/kh ds fuokZpu dks jí dj fn;k FkkA ftlesa xka/kh dh yksdlHkk dh ik=rk
ds lkFk&lkFk Á/kkuea=h ds in dh dqlhZ Hkh [krjs esa iM+ xbZ FkhA ;|fi loksZPp U;k;ky;
us bl fo k; esa LFkxukns’k fey x;k Fkk ijUrq blls mudh Nfo dks dkQh /kôk yxk FkkA

7½ & lR;kxzg dh ?kks k.kk & ts-ih- vkUnksyu dh vkx tc fnYyh igaqph rks mUgksaus
,d cM+s jktuhfrd la?k kZ ds mís’; ls 25 twu 1975 dks fnYyh ds jke yhyk xzkmaM esa ,d

fo’kky jSyh dks lEcksf/kr djrs gq;s dgk fd bfUnjk th dks bLrhQk ns nsuk pkfg,A lkFk gh
ts-ih- ukjk;.k us ?kks k.kk dh fd tc rd bfUnjk th viuk R;kxi= ugha nsrh rc rd ;g
jk VªO;kih lR;kxzg pyk;k tk;sxkA mUgksaus iqfyl o lsuk ls vkgoku fd;k fd os bl
vuSfrd vkSj vlaoS/kkfud vkns’kksa dk ikyu u djsaA blls ljdkjh dkedkt Bi gksus

dk vUns’kk iSnk gks x;k vkSj ljdkj dks ,slh gkyr esa dksbZ cM+k QSlyk ysus dh ?kM+h vk xbZ
FkhA

Á026- Hkkjr ds fofHkUu fdlku vkUnksyuksa dk o.kZu djsaA

mÙkj % Hkkjr ds fofHkUu fdlku vkUnksyu & Hkkjr esa fdlku vkUnksyu eq[;r% Lora=rk ds ckn ik;s x;s

gaSA vktknh ls iwoZ d` kdksa dks ;g vk’kk Fkh fd mudh n;uh; vkSj nfjnz fLFkfr esa dqN lq/kkj gksxk
ijUrq mUgsa ,slh ifjfLFkfr;ksa ds volj ÁkIr u gq;sA bl dkj.k fdlkuksa dks dbZ ckj vkUnksyuksa dk
jkLrk viukuk iM+kA ftuesa ls dqNsd Lora=rk ÁkfIr ds ckn ds vkUnksyu fuEufyf[kr gSa %&

1½ & ¼1946&1947½ Lora= Hkkjr esa loZÁFke d` kd vkUnksyu caxky dk
frHkkxk vkUnksyu FkkA vkS|ksfxd et+nwj oxZ dks blls i`Fkd j[kk x;k Fkk vkSj eU>ksys
fdlku blls vyx gks x;s FksA bl rjg bl vkUnksyu dk vk/kkj lhfer Fkk vkSj bl
vkUnksyu dk ’kh?kz gh iru gks x;k FkkA

2½ & ¼1946&1951½ & rsyaxkuk esa fdlkuksa dh ;g ekax Fkh fd fdlkuksa
ds lHkh _.k ekQ dj fn;s tk;sa vkSj cykr ,oa vR;f/kd dj olwyh u dh tk;sA
dE;wfuLVksa ds usr`Ro esa txg&txg tu lfefr;k¡ xfBr dh xb±A bl vkUnksyu ls 2000
xk¡ao vkSj 40 yk[k dh tula[;k ÁHkkfor FkhA vkUnksyudkfj;ksa us ljdkjh inkf/kdkfj;ksa dks
vius fu;a=.k esa dj fy;k vkSj vR;kpkjh tehankjksa dks muds ?kj vkSj xkaoksa ls fudky fn;k
vkSj mudh Hkwfe ij fdlkuksa us dCtk dj fy;kA ijUrq Lora= Hkkjr dh lsuk us 1951 esa
rsyaxkuk vkUnksyu dks dqpy fn;kA

3½ & ¼1969½ uDlyckM+h if’pe caxky esa fLFkr gSA 1969 eas uDlyckM+h
usrk dkuw&lU;ky us ,d ubZ dE;wfuLV ikVhZ dh LFkkiuk dh Fkh vkSj l’kL= d`f k
ØkfUr }kjk lEiw.kZ ns’k esa lektokn dh LFkkiuk dh ?kks k.kk dhA uDlyokM+h vkUnksyu ds
dk;ZdrkZ phuh&usrk ekvks&Rls&rqax ds HkDr FksA mUgksaus tehankjksa dks ekjk vkSj mudh
lEifÙk ywV yhA dbZ udlyokM+h usrk cUnh cuk fy;s x;s vkSj ;g vkUnksyu ’kkUr dj
fn;k x;k ijUrq bldh ÁfrfØ;k lEiw.kZ Hkkjr esa gqbZA mÙkj&Áns’k] fcgkj] iatkc vkSj
tEew&d’ehj esa ,sls ØkfUrdkjh vkUnksyu lfØ; gq;s tks ^uDlyoknh* uke ls Áfl) gks
x;sA vkU/kzÁns’k ds Jh dkdqye ftys esa ;g vkUnksyu rhu o kZ rd ^tu&;q)* ds :i esa
pyrk jgkA

4½ & vka/kzÁns’k ds okjaxy vkSj djhe&uxj ftyksa ds fdlkuksa us Hkh
,d vkUnksyu fd;kA mudk ;g vkUnksyu udlfy;ksa ds leku ,d l’kL= vkUnksyu FkkA
ftldk mís’; ØkfUr ykuk FkkA bu fdlkuksa }kjk dbZ LFkkuksa ij tehnkjksa ls Hkwfe Nhu dj
Hkwfeghu fdlkuksa esa ck¡V nhA 1951 esa ljdkj }kjk bl vkUnksyu dks dqpy fn;k x;kA

”

”

”

”

”

”

”

”

”

jk VªO;kih

frHkkxk vkUnksyu

rsyaxkuk vkUnksyu

uDlyckM+h vkUnksyu

vkU/kzÁns’k&vkUnksyu

”

”
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5½ & Lora=rk ds ckn Hkkjr esa jktuhfrd psruk vkSj
f’k{kk ds Álkj esa i;kZIr o`f) gqbZA bl o`f) us fdlkuksa dks Hkh i;kZIr ÁHkkfor fd;kA
mUgksaus ;g vuqHko djuk ’kq# dj fn;k fd vius fgrksa dh lqj{kkFkZ fdlkuksa dk laxfBr

gksuk vfuok;Z gSA ftudh dqNsd ekaxs fuEu Ádkj ls gSa %&

1½ d`f k mit dk ykHkÁn ewY;A

2½ d`f k fuos’k] moZjd] cht] fo|qr] Mhty] jklk;fud nokbZ;ksa vkfn dks lLrs ewY;ksa ij

miyC/k djokukA

3½ fdlkuksa ds _.k ekQ djukA

4½ d`f k mitksa dks ,d jkT; ds nwljs jkT; esa ys tkus dh NwVA

5½ [ksfrgj Jfedksa ds fy, mfpr et+nwjhA

Á027- lksfo;r la?k ds fo?kVu ds eq[; dkj.kksa dk o.kZu djsaA

lksfo;r la?k ds fo?kVu esa eq[; dkj.k % &

1½ & nwljs fo’o ;q) ds ckn tc lksfo;r la?k fo’o dh jktuhfr esa
egk’kfDr ds :i esa mHkj dj vk;k rks bldh vFkZO;oLFkk dkQh etcwr Fkh ijUrq
vFkZO;oLFkk ij iw.kZ fu;a=.k u gksus ds dkj.k mldk fodkl ugha gks ldk vkSj mlesa
fxjkoV vkrh pyh xbZA mRiknu vkSj forj.k ij iw.kZ fu;a=.k gksus ds dkj.k mRiknu dh
xq.koÙkk ij dksbZ lq/kkj ugha gqvk vkSj mldh ek=k c<+rh xbZA yksxksa dks lLrs nkeksa ij
t:jh oLrq;sa nh tkus yxhaA dkj.k ljdkj dks ?kkVk mBkuk iM+k vkSj vFkZ O;oLFkk
xfr:) gks xbZ o yksxksa dh c<+rh gqbZ ekax dks iwjk u dj ldhA

2½ & ’khr ;q) ds nkSjku lksfo;r la?k us viuh lsuk ds
vk/kqfudj.k ij vf/kd cy fn;kA lksfo;r la?k ds }kjk vius leLr lalk/kuksa dks
lSU;dj.k dh vfXu esa >ksaduk vkjEHk dj fn;k FkkA mlus vius vkfFkZd fodkl dh vis{kk
lSU;dj.k ij vf/kd cy fn;kA ftlds dkj.k lksfo;r la?k esa uohure lSU; midj.k
,oa rduhdh dh [kkst dh tkus yxh vkSj ml ij Áfro kZ vjcksa MkWyj [kpZ fd;s tkus
yxsA la?k dk T;knkrj /ku lSfud {ks= esa [kpZ gksus dh otg ls vkfFkZd fLFkfr detksj gks
xbZ vkSj vius ÁHkkoghu jkT;ksa ij Hkh viuk fu;a=.k j[kus esa lQy u gks ldkA

3½ & vkjEHk esa lkE;oknh usrk lektoknh vFkZO;oLFkk dh
if’peh iwathoknh vFkZO;oLFkk ls vPNk crkrs FksA ftlesa gj O;fDr dks dke vkSj Hkkstu
dh xkjaVh nh tkrh FkhA vc yksxksa dh miHkksDRkk oLrqvksa dh deh eglwl gksus yxh rks
muesa vlUrks k dh Hkkouk;sa iuius yxhaA if’peh ns’kksa dh mUufr] muds jgu&lgu esa
Áxfr vkSj muds lkekftd vkfFkZd lq/kkj dks lksfo;r la?k ds yksxksa us ns[kk vkSj eglwl
fd;k rks mudk viuh vkfFkZd O;oLFkk vkSj mudh vkfFkZd O;oLFkk dh vksj >qdko gksus
yxkA bl rjg yksdra= vkSj mnkjoknh vFkZO;oLFkk ds xq.kksa dks ns[kdj ÁHkkfor gksus
yxsA bl Hkkouk us lksfo;r la?k ds fo?kVu esa Hkwfedk fuHkkbZA

4½ & 50 ds n’kd esa uo Lora= ns’kksa ds }kjk ,f’k;kbZ]
vÝhdk vkSj ysfVu vesfjdk ns’kksa ds e/; ijLij lg;ksx vkSj f}rh; fo’o ;q) ds ckn
mRiUu ’khr;q) dh jktuhfr ls cpus ds fy, xqVfujis{k vkUnksyu dh uhao
j[kh FkhA ’khr ;q) dh mxzrk dks de djus esa xqV fujis{k vkUnksyu esa egÙoiw.kZ ;ksxnku

1970 ds ckn pyk;s x;s vkUnksyu

fxjrh vFkZO;oLFkk

lSU;dj.k ij vf/kd cy

yksxksa esa vlarks k dh Hkkouk

xqV&fujis{k vkUnksyu dh Hkwfedk

”

”

”

”

”

”
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fn;k FkkA 1961 esa gq, bl ÁFke&xqVfujis{k ns’kksa ds f’k[kj lEesyu esa tgka 25 ns’kksa us
Hkkx fy;k Fkk ogha vxLr 2012 esa gq, blds 16osa f’k[kj lEesyu esa 120 lnL; jk’Vªksa us
blesa Hkkx fy;k FkkA nksuksa egk’kfDr;ksa ds bl vkUnksyu ls tqM+us ds dkj.k ;g vkUnksyu
dkQh yksdfÁ; gks x;k FkkA

5½ & 1917 dh ØkfUr ds ckn mlesa ’kkfey gksus okys
x.kjkT;ksa dks ml le; ;g fo’okl fnykdj lksfo;r la?k esa ’kkfey fd;k x;k Fkk fd os
tc Hkh pkgsaxs lksfo;r la?k ls vyx gks ldsaxsA blds fy;s laoS/kkfud O;oLFkk Hkh dh xbZ
FkhA ysfdu lksfo;r la?k us mUgsa MaMs ds cy ij vius lkFk feyk;s j[kk Fkk vkSj os
lksfo;r la?k ls vyx gksus ds ckjs esa lksp rd Hkh ugha ldrs Fks blfy, tc x.kjkT;ksa esa
Lora=rk dh Hkkouk tkx`r gqbZ rks /khjs&/khjs ls lksfo;r la?k ls vyx gksus yxsA

6½ & nwljs fo’o ;q) ds ckn tc vesfjdk rFkk lksfo;r la?k nks
xqVksa esa caV x;k rks vesfjdk us vius xqV ls tqM+s if’peh ns’kksa ds lkFk lksfo;r la?k dks
detksj djus ds Á;kl ’kq: dj fn;sA lksfo;r la?k dh jktuhfrd] lkekftd vkSj
vkfFkZd O;oLFkk dks gj rjg ls detksj djus dk mUgksaus Á;kl fd;kA mUgksasus mnkjoknh&
iwathoknh vFkZO;oLFkk ds Ápkj&Álkj ds fy;s Á;kl fd;s vkSj lksfo;r la?k dks ;g
fo’okl fnykus dk Á;kl fd;k fd lektoknh O;oLFkk mudk Hkyk ugha dj ldrh vkSj
mudh leL;kvksa dk gy dsoy iwathoknh O;oLFkk gh dj ldrh gSA bl Ádkj if’peh
ns’kksa dks lksfo;r la?k dh ,drk dks rksM+us esa viuh Hkwfedk fuHkkbZA

7½ & nwljs fo’o ;q) ds ckn if’peh teZuh ij vesfjdk] Ýkal rFkk
fczVsu dk dCtk gks x;k rFkk iwohZ teZuh ij lksfo;r la?k dk FkkA 1970 ds n’kd esa teZuh
ds ,dhdj.k ds fy, vkUnksyu ’kq: gqvk rFkk 1990 esa iwohZ rFkk if’peh teZuh dk
,dhdj.k gks x;kA bl Ádkj iwohZ teZuh ij lksfo;r la?k dk fu;a=.k lekIr gks x;kA
blds ifj.kke Lo:i lksfo;r la?k ds rhuksa x.kjkT;ksa us lksfo;r&la?k ds fu;a=.k ls eqDr
gksus dh ?kks k.kk dj nh vkSj ogka lksfo;r la?k dk fo?kVu vkjEHk gks x;kA

Á028- la;qDr jk Vª la?k esa Hkkjr dh Hkwfedk dk o.kZu djsaA

la;qDr jk Vª la?k esa Hkkjr dh Hkwfedk &

1½ & Hkkjr mu igys 51 ns’kksa esa ls gS ftUgksaus la;qDr

jk Vª dh LFkkiuk ds lEca/k esa gq, lEesyuksa esa Hkkx fy;k Fkk vkSj blds pkVZj ij gLrk{kj

fd;s FksA

2½ & Hkkjr la;qDr jk Vª la?k ds mís’;ksa esa xgjh vkLFkk j[krk
gSA lafo/kku dh jkT;uhfr funsZ’kd fl)karksa dh /kkjk 51 ds }kjk ;g ?kks k.kk djrk gS
fd Hkkjr fo’o ’kkfUr vkSj lqj{kk dks c<+kok nsxkA jk Vªksa ds chp mRiUu fooknksa dks
ckrphr ds }kjk ’kkfUriw.kZ rjhdksa ls gy djus vkSj jk Vªksa ds chp eS=hiw.kZ lEca/k LFkkfir
djus dk Á;kl djsxkA

3½ & tc baXySaM] Ýkal rFkk btjkby us feL=
ij vkØe.k fd;k Fkk rks ;q) can djokus rFkk feL= dks U;k; fnyokus esa Hkkjr us lfØ;
Hkwfedk fuHkkbZ FkhA tc Hkh la;qDr jk Vª la?k dks dksbZ Hkh fookn lqy>kus] ;q) canh ykxw
djus vkSj ’kkfUr LFkkfir djus esa dgha viuh lsok,a Hkstus dh vko’;drk iM+h rks Hkkjr us
vius vkidks vkxs fd;kA

4½ & Hkkjr dh la;qDr jk Vª ds vk/kkjHkwr mís’;ksa esa xgjh

x.kjkT;ksa dh Lora= gksus dh Hkkouk

if’peh ns’kksa dh Hkwfedk

teZuh dk ,dhdj.k

Hkkjr la;qDRk jk Vª dk pkVZj lnL;

la;qDr jk Vª ds mís’;ksa esa vkLFkk

1956 esa Lost+ ugj ds jk Vªh;dj.k ds Á’u ij

jax&Hksn dh uhfr ds fo:) la?k kZ
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vkLFkk j[krk gSA ftlesa jax&Hksn dh uhfr dk [kqyk fojks/k Hkh ’kkfey gSA Hkkjr dh nf{k.k
vÝhdk dh jax&Hksn leFkZd ljdkj ls dksbZ jktuf;d lEca/k ugha gS vkSj Hkkjr us ÁR;sd
vUrjkZ Vªh; eap ls nf{k.k vÝhdk dk cfg dkj djus dh ekax mBkbZ gSA vxLr 1986 esa gq,
jk Vªea.Myh; [ksyksa dk cfg dkj ’kkfey gSA

5½ & vkfFkZd o lkekftd leL;kvksa
ds lek/kku ds fcuk LFkkbZ vUrjkZ Vªh; ’kkfUr LFkkfir ugha dh tk ldrhA bl rF; ls Hkkjr
Hkyh&Hkkafr ifjfpr gS blfy, Hkkjr us bu leL;kvksa ds lek/kku ds fy;s la;qDr jk Vª dh
fofHkUu ,tSafl;ksa tSls vksj bR;kfn dh
xfrfof/k;ksa esa fujUrj Hkkx fy;k gSA

6½ & xSj vkf.od ,oa vkf.od vL=ksa ls laiw.kZ tkfr
esa [krjk mRiUu gks pqdk gSA Hkkjr us bl [krjs dks lekIr djus ds fy;s lnSo
fu%’kL=hdj.k dk leFkZu fd;k gSA 1961 esa Hkkjr us fu%’kL=hdj.k ds lEca/k esa egklHkk esa
,d ÁLrko j[kk FkkA ifj.kkeLo:i 1962 esa tsusok fu%’kL=hdj.k lEesyu vkjEHk gqvkA
1985 esa Hkkjr us ikap ns’kksa ds lkFk feydj ßfnYyh ?kks k.kkÞ Hkh dh ftldk mís’; vkf.od
vL=ksa ij jksd yxkuk FkkA

7½ & Hkkjr us vkjEHk ls gh ’kfDr;ksa dh xqVcanh rFkk lSfud
xBca/kuksa dk fojks/k fd;k gS vkSj [kqys :i ls fd;k gSA bl vk’k; dh iwfrZ ds fy;s mlus
xqV fujis{krk vkUnksyu dks vkjEHk djus rFkk mls ,d ÁHkko’kkyh laLFkk cukus esa lfØ;
Hkkx fy;k gSA xqVfujis{krk fu’p; gh la;qDr jk Vª ds y{;ksa dh ÁkfIr esa lgk;d gSA
xqV&fujis{k vkUnksyu us lkjs lalkj dks nks xqVksa esa caVus ls cpk;k gSA

8½ & la;qDr jk Vª dk Áeq[k mís’; ekuo vf/kdkjksa dks lqjf{kr
o fodflr djuk gSA Hkkjr bl uhfr dk Ácy leFkZd gSA foxr esa fo;rukeh tkurk Fkk
fd orZeku esa nf{k.k vÝhdk esa dkys yksxksa dk] Jhyadk esa rfey turk] vjc] btjkby
fookn esa fQyhLrhuh turk dk leFkZu Hkkjr blh mís’; ls djrk vk;k gS fd tgka dgha
Hkh ekuo vf/kdkjksa dk guu gqvk gS budh vkykspuk gqbZ gSA Hkkjr us blds fo:) vkokt
mBkbZ vkSj la;qDr jk Vª dks bl lEca/k esa mfpr dkjZokbZ djus dh vihy Hkh dhA

9½ & la;qDr jk Vª ds eq[; vaxksa o ,tSafl;ksa esa Hkkjr dks
egÙowi.kZ in rFkk LFkku feyrs jgs gSaA 1954 esa Hkkjr dh Jherh fot; y{eh iafMr
egklHkk dh v/;{k fuokZfpr gqbZA 1956 esa MkW- jk/kkd` .ku ;wusfldks ds v/;{k] MkW-
jktsUnz flag 1973 esa vUrjkZ Vªh; U;k;ky; esa U;k;k/kh’k] rFkk Qjojh 1985 esa eq[;
U;k;k/kh’k pqus x,A Hkkjr nks ckj la;qDr jk Vª ekuo vf/kdkj vk;ksx dk lnL; jgk gSA
ckcw txthou jke vUrjkZ Vªh; Je laxBu ds Á/kku jgs gSaA MkW- ih- ,u- d`iky ;wusfldks
ds dk;Zdkjh e.My ds v/;{k jgs gSaA 1998 esa Hkkjr ds eq[; U;k;/kh’k Jh vkj-,l-ikBd
vUrjkZ Vªh; U;k;ky; ds tt pqus x;s FksA bl rjg Hkkjr dbZ egÙoiw.kZ vaxksa o ,tsafl;ksa
dk lnL;@v/;{k Hkh jgk gS vkSj Hkkjr dh bl Hkwfedk dks ns[kdj cgqr ls ns’kksa us Hkkjr
dks la;qDr jk Vª la?k dh lqj{kk ifj kn dk LFkk;h lnL; cukus dk leFkZu Hkh fd;k gSA
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